1
Time: 10 Minutes Paper English 6 (T-1) Total Marks: 10

2nd Month, 2nd Week, 2nd Day

Syllabus: Unit # 3: Present Continuous Tense, Story: Where there is will, there
is a way.

Q.No.1. Choose the correct options. (€))
1. indicates an action happening in the present and may continue
into the future.

(a) Present indefinite tense (b)| Present perfect continuous tense
(c) Present perfect tense (d) Present continuous tense

2. My daughter is

which is given below:

(@) takles  [(b)| talk l(©)| talking |@)| talked |
3. Choose the correct structure of present continuous tense. (Negative sentence)
(a)|is/am/are + sub + 1st + ing + obj + ? |(b)| sub + was/were + 1st + ing + obj
(c)|sub + is/am/are + not + 1st + ing + obj|(d)| sub + is/am/are + 1st + ing + obj

4. "I am reading a book." Change simple present continuous tense into
negative form.

on the phone right now. Choose the corrcet option

(a) I am not reading a book. (b) I have not read a book.

() I do not read a book. (d) Am I reading a book?

5. I really ill?

(a)] His ) Is (0] Am (@)] Are |
6. My wife is not __ today. Choose the suitable verb to complete this
sentence.

| (a) | cook |(b)| cooking | () | cocked |(d)| cooks |
Q.No.2. Change the following sentences into their negative form. A3)

* They are walking.

* Tam reading a book.

* He is dancing in the club.

Q.No.3. Write a story on the moral of '""Where there is will, there is a way."
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